Use proportional reasoning to solve a problem, choosing the correct numbers to take as 100%, or as a whole

	The percentage increase from 80 centimetres to 1 metre
	The result when –5 is increased by 100%
	The result of reducing 2
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 by 25%, and then reducing the result by a further 25%

	75 cl expressed as a percentage of 1 litre
	The difference between 23% of 85 and 85% of 23
	The percentage wage increase from £20,000 p.a. to £20,500

	The result when 
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 is decreased by 50%

	150% of 
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	50 metres expressed as a percentage of 1 kilometre
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